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iﬁg:{_%)%ﬂ*&ﬂ% : 150,00099%13] 150,000
(3 EH_25)5AH] ¢ 560,000910L = 560,000
i;éﬂ*ﬁg_z%“ééi?ﬂ}i@% :100,0009 200,000
A7) 2022 129 13 084 14+ 29% 24 APECuUSH AFASxEdu
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(FHA2F)EEF7IE A5 ¢ 600,0009

s

f

o
o

ola - 600,000
2.8 5@ 521 550 550
RIS DR LR A 1,877 1,877
3.8 e #d 2,700 2,700
1.3t a2 91 3] -3 1,200 1,200
1.[Z]TuEdA D3] 1,200 1,200
1. 9 -7 1,200 1,200
2. 957528 1,500 1,500
L[z Ras 1,500 1,500
1. dnkpgn) 800 800
2. x99 500 500
3. W] Fx0 ] 200 200
7.3 0 AFEE 2,000 2,000
1.dn)n] 2,000 2,000
1. <jnyn] 2,000 2,000
1. [Z]dn]8] 1,000 1,000
1. <juln] 1,000 1,000
2. [Fr 1A efuyH] 1,000 1,000
1. <ju)u] 1,000 1,000
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